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11-6 The Pythagorean Theorem
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Converse of the Pythagoresn Thearem If the sum of the squares of the
lengihs of the rwo sharer sides of » trangle i equal 10 the square of the
length of e longest, then the triangle o & right triangle The right angle
n opgeane the mgrwt wde

Example 1 The length of one side of & right triangle s 24 cm
The length of the hypotenuse s 23 cm

Wrate and solve an oguation o Nind the uoknown side
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Check 7 s 28 = 28
.9 - S"’ - 62.‘ ‘.

The length of the third side of the nght tnanghe is 7 ¢m

In Exercises 1-10, refer to the triangle ot the right.
Find the missing length correct to the nearest hundredth. : .
A calculator may be helpful,

h

lLa=12.b=)6c=_T 2000 4. b=48.¢c~_" 85000

< 2.a=
la=2b=d4c=_21_ 808 a2 b c=_1_ 1442
SSa=10,b=10.c=_"_ 14.14 bawlbbulc=_1 _ 1585
Toa=_2 _b=10c=156 1249 B an=_T b=35c=3 1200
S e=100=_"  ¢=26 2000 10.a=80.b=_" c=41 900
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35 4 144 = 169
1 =~ 5
$. 12, and 13 form
» righn triangle
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12, 1%, and 22 do mnt
form a right triangle

State whether or not the three given numbers repeesent the lengths of

the sides of a right triangle.
11. 9, 16, 20 no 12. 9. 4041 yes
4. 5.6,7 no 15. 6.2 10 yos

17, 18, 24, %0 yeos
20, 20, 21, 29 yes

I8, 45,60, 75 yeos
21, 21,28, 35 yes

13, 9. 12,15 yes
6. 11,12, 16 no
19. 17,18, 3} no
22, 15,36, 3% no

In Exercises 2330, refer to the diagram for Exercises 1-10. Find the

missing length correct (o the nearest hundredth.
V. amwbwibc~_1_ 2208

B.a=16,b=2a.c=_1_ 1700

-

!
7. a=12. b = ;a cew=_1_ 12,88

V.awbw10,ec~_7_ 1414

U a=hp=9c=_1_ 127
u..-%a.a-:o.:-_?_.. 11.18

Zl.a-lé.b--:—c.r- 7. 1649

»..-.;-5.»-..:-_?_, 8.04

Mixed Review Exercises

Simplify.

1 V2532 gty LVE s s 16 le -4l 3 VasSe + 27
Write a fraction in simplest form, ihd L
«a-lo-*v—"—‘% s.m-ty-'ﬁ-.:f-_ “ 34428

7. .::02"}' -~|;’.“’",L:; -‘-i;_”’-' ’.::*l’a-[_
10. (-3:—-)’ --—:‘; 1. 3':;'_‘;'“:02 lz.g-;—:'"—"-&-i




